direg

Transitional Sideboard

By Nick Alicia

Difficulty
Advanced

This sideboard design marry’s traditional and contemporary styles to create a timeless design that suits any space. With

plenty of storage in four drawers and two large cabinet, it can house all of your dining-related items like glassware, cutlery,

fine china, candles, napkins, and tablecloths. Overall size is 64" x 16" x 33-3/4".

$§ SketchUp

Page 1 of 15



Tools

Kreg Tools

* Kreg® Pocket-Hole Jig 720PRO

P
'.&&

AN

&

\

x Straight Edge Guide
’ Shelf Pin Jig 1/4"

& =~

Cabinet Door Mounting Jig

Drawer Slide Jig

Cabinet Hardware Jig

|\

a="" Zinc Pocket-Hole Screws

=" 7inc Pocket-Hole Screws

direg

Materials

Wood Products

2

1

3

Plywood , 3/4" X 4' X 8'
Plywood , 1/4" X 4' X &'
Boards,1X 3" X 8
Boards,1X2" X 8

Board ,1X 6" X&'

Hardware & Supplies

1

1

Box Of 1 V4" Kreg Pocket Hole Screws- For Softwood (See Tools List)
Box Of 1 4" Kreg Pocket Hole Screws- For Hardwood (See Tools List)
Box Of 1 %" Brad Nails

Roll Edge Banding

Sets Of 2" Non-mortise Cabinet Hinges

Sets Of 14" Ball Bearing Drawer Slides

Knobs

Pulls

Double Magnetic Catches

Pencil

Wood Glue

Sandpaper (Various Grits)

Page 2 of 15


https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720pro/KPHJ720PRO.html
https://www.kregtool.com/shop/cutting/circular-saw-cutting/straight-edge-guide/KMA4500.html
https://www.kregtool.com/shop/cabinet-solutions/cabinet-drawer-shelf-jigs/shelf-pin-jig-14/KMA3225.html
https://www.kregtool.com/shop/cabinet-solutions/cabinet-drawer-shelf-jigs/cabinet-door-mounting-jig/KHI-CDIJ.html
https://www.kregtool.com/shop/cabinet-solutions/cabinet-drawer-shelf-jigs/drawer-slide-jig/KHI-SLIDE.html
https://www.kregtool.com/shop/cabinet-solutions/cabinet-drawer-shelf-jigs/cabinet-hardware-jig/KHI-PULL.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-screws-plugs/zinc-pocket-hole-screws/SML-C125-100.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-screws-plugs/zinc-pocket-hole-screws/SML-F125-100.html

Cut List & Parts

1

1

Base Back , 56-1/2 X 3 X 3/4"

Base Front, 53 X 3 X 3/4"

Base Sides, 12-3/4 X 3 X 3/4"

Base Mids, 12 X 3 X 3/4"

Base Corners, 3 X 2-1/2 X 3/4"

Outer Sides , 30 X 15-1/4 X 3/4"

Inner Mids , 30 X 15 X 3/4"

Bottoms, 30-1/2 X15 X 3/4"

Top Spans, 30-1/2 X 3-1/2 X 3/4"

Back Spans, 30-1/2 X 7-1/4 X 3/4"

Horizontal Top/Bottom Face Frame , 61 X 1-1/2 X 3/4"
Vertical Side Face Frame, 30 X 1-1/2 X 3/4"
Vertical Middle Face Frame, 27 X 1-1/2 X 3/4"
Horizontal Face Frame Spans , 29-3/4 X 1-1/2 X 3/4"
Drawer Face Frame Splits, 5 X 1-1/2 X 3/4"
Drawer Side Supports, 14-1/4 X 2 X 3/4"
Drawer Mid Supports , 14-1/4 X 5-3/4 X 3/4"
Back, 63 X 30 X 1/4"

Drawer Carcass Sides , 14 X 4 X 3/4"

Drawer Carcass Front/Back , 11-5/8 X 4 X 3/4"
Drawer Carcass Bottoms, 14 X 13-1/8 X 1/4"
Shelves, 30-1/2 X 14-1/4 X 3/4"

Magnetic Catch Mounts, 4 X 1-1/2 X 3"
Door Rails, 10-13/16 X 2-1/2 X 3/4"

Door Stiles, 20-1/2 X 2-1/2 X 3/4"

Door Panel Inserts , 16-1/2 X 10-13/16 X 1/4"
Drawer Fronts , 14-1/8 X 4-7/8 X 3/4"

Top , 64-1/2 X 16-1/4 X 3/4"

122" Boards - 1xd™ Boards

.~ T

E Horizontal Fraﬂ'l'{ Top & Bottom Drawer FIAE_‘:I'E: EEN Splits Horizontal rame Spans I | i
122" Boards - 1x2” Boards

P ™ y 2 T

Ef Horizontal Fraﬂ'::r Top & Bottom Drawer FuE'_r:ﬂl:;-e DIJ“_)(N Splits Horirontal farme Spans —I o
1x2" Boards - 1x27 Boards

E? Wertical Sldﬁraﬂle Sides rf Werbcal Slﬂﬁm me Jides f- Vertscal "H’&x Faze Frame J r

Page 3 of 15

direg



123" Bpards - 1237 Boards
T8 3 ] 0, w i 08 g : i o
E} Dot I:F};s In Do Hails I'ﬁ Dwms ]::3 Dwred Hads [ﬁ Do %5 Ii'j MHH: = Do Sties l l
123" Beards - 123 Boards
3 i E 3 e T 3
E Dnuana:iI“- Il" D’vl;gur £T11 4 Do = o Dioor | I"" I:In-ll:‘ru?lilu I"“‘ Dn@aﬂh j I I %1
i o4 o4 i (=] .
123" Boards - 123" Boards
2 < [ k| B T
E} DUMIES l': ﬂoﬂ?ﬁl‘kﬁ I'ﬁ Uoﬂlei mlMﬂolmn | l a
126" Boards - 1x6™ Boards
14125 14 125" I 14125 1 14,125
ks b L g
Drawer Fronts = Dirawer Fromts 1= Deawer Fronts e Dirawes Fronts ]
|-+ == - - >
3/4° Plywood - 3/4% Plywood
LT
" 30° ao" 35.75
I i
'ﬂ Dutar Sides et Quter Sidos w
30.57 30.57 300 4.825
| s Battamn e Bottoms e Inner Mids ra
£
64.57 = 1 e
¥ aon= ] [
£
i bl L Inner Mids
86"
LA™ Plyveoad - 14" Plywoad
5 T =
- ||.11-?;udu. I}-. n.-l-{nd‘ I:'-n.- “.‘;2“““ l. a n.-ﬁ rond I
LG T4 25 (L E-3 14 08
£ Drawar Mid Supports iZ Draweer Mid Supports = Drawer Mid Suppons BT Drmwer Mid Supports
| Y EF-?E 3"--:!: In. Hal% :;-?di"l In EFI..I\ﬁ :;Edlri I.!-. ﬂl“'ﬂ;‘bﬂl J-
L 0.5
E Shebvew I§ Shelvey X R I 41
T — :"; Tap Spans -
T aey Teas
O awver Carcass Frontii ¢ Carcass FrontBads
08 308 ] & I 3
il Top Spans s
.'? Hach fpans :5-‘ Esch Spans sk — —
- [ Ry Dravwes 3RS uppons I#.. Drawer A8 HRupports I
L IR a
147 4= 4" 118287 RN -F ii.azg" i1.828°
Er Dirawer Carcans Sides Ly Dirawer Carcasy Sides fr Dirawer Carcass Skdes | Ofipser Carcans Fro er Carcavy FrontTlfiss r Carcass Frontl r Carcass FrontTadh.
14 i 4 T [EH EF o 11 828
Fr Dirawer Caraass Sides Lr Drawer Carcass Sides = Dvawed Carcass Shdes S Drawes Carcass Sides = Drawer Carcass Skies eser Carcass FrontE Cartass Fromt/Bagh-

Page 4 of 15

direg



direg

114" Plywood - 14" Plywood

TH i 3
rawer Carcass Bottoms | “Drawer Carcass Bottoms |~
(] L] il

T T
: 5 5
ﬁ}rmr Carcass Bottoms | —Drawer Carcass Bottoms | =
=¥ Lar |

TORTZE"

05

Door Insert

10B126°

Door Insert

10825

Door Insert

= Dioor Insert

o8

§) SketchUp

Page 5 of 15



direg

Directions

Step one
1 Cut all parts to size as per the CUT LIST/DIAGRAM.. To ensure you keep the correct orientations, mark each piece with name
and dimensions on each side and edge. Drill pocket holes on the boards included on this diagram in the locations shown on

the 34" setting on your drill bit collar. Your Kreg 720PRO will automatically adjust for the thickness of the wood.

Step two
2 Create a 1/4" dado (groove) on one side of the OUTER SIDE pieces on the 30" length. This is where the back panel will

eventually be inserted and attached.

§) SketchUp

/4"

Page 6 of 15



direg

Step three

Take note of the orientation of all pocket holes on the diagram. Lay the pieces out as shown before attaching anything.
Attach BASE CORNERS to the ends of the BASE FRONT piece using 1-1/4" Pocket Hole Screws (Note: The grain direction will
not match between the two pieces - this is intentional). Attach BASE SIDES to BASE CORNER pieces as shown using 1-1/4"
Pocket Hole Screws. Attach BASE BACK to the BASE SIDES using 1-1/4" Pocket Hole Screws. Insert and attach the BASE

MIDS as shown to finish the base component.

Pocket Holes on back -

1275

. 1 QOPTIOMAL: Router the q'dj:e with & Very 3 |;.:h| roundover, You could alzo hand sand
a0 [don’t router or sand 100 deep as your pocket hole screws are in this piece)

QPTIOMNAL: Rowuter the d,'ﬂju' with a vary slight reundover, You could alss hand sand
(don’t router of 2and (00 deep a% your pockel hole screws ane in this piece)

Page 7 of 15



direg

Step four
Create the cabinet boxes by attaching the BOTTOMS, TOP SPANS and BACK SPANS to the OUTER SIDES ensuring the dado
is at the back and facing the inside of the cabinet. The TOP SPANS and BOTTOMS should be flush with the face of the

OUTER SIDES. Then attach the INNER MIDS to complete the two individual boxes, ensuring they are flush with the front
side of the cabinet. Use 1-1/4" pocket hole screws for all connections. Attach the boxes together using 4 pocket hole screws

on each side of the INNER MIDS (not in actual pocket holes and can be in any location except where you expect to install

your drawer slides).

1/4" Dado for BACK insert
-~ 1i4" Dado for BACK insert

i
- /
B |1 '.ITI‘",F‘ e —
oa . II -
-~
FII J!.-""’-'
'|II ____I
I| II
I| II
f
|
|
1
f
|
|
& III
ll'. Screw boxes together with {
'.II 1-1/4" pocket hole screws in 3‘[;
| various lacations i
|III II
|
|I I|
'|| |
1 II
I
f
|
f
|
T
- ]
I
Step five
5 Attach the assembled bottom to the two boxes as shown.
! !

T

I'|
'— Attach base to cabinet with pocket hales underneatk

Page 8 of 15



Step six

hole screws.

direg

On a flat surface, lay out the pieces for the face frame as shown in the diagram. Attach using wood glue and 1-1/4" pocket

I — =
| T LI} L} l T T
| 5 00 &
| 141257 «-ﬂg | l ﬂﬂ
| L = = 11 = =
| + 2915" - ™ 205
| |
i | .
w ar
] ]
I 205 05"
|
| 1
. | ‘
I
| , :I L3 —
v = =
B o i ol
Step seven
Attach the face frame with glue and 1-1/4" brad nails. OPTIONAL: Round the edges of the sides by lightly sanding or routing.
OPTIOMNAL:

Router the edge with a

very slight round-over.

You could alse hand sand.

(Don't router or sand too deep

as your brad nails are in this piece)

OFTIOMAL:
Router the edge with a
very slight round-over,

You could also hand sand.
(Don't router or sand too deep
as your brad nails are in this piece)

Page 9 of 15




Step eight

direg

Attach DRAWER MID SUPPORTS flush with the buttom of the TOP SPAN and matched with the DRAWER FACE FRAME

SPLITS using 1-1/4" pocket hole screws. Attach DRAWER SIDE SUPPORTS on the left and right side to match up with the

bottom of the drawer opening using wood glue and 1-1/4" brad nails. This is where you will attach your drawer slides to the

OUTER SIDES in Step 14.

i T\ V! ] ]
- 575"
/j%

R ﬁ ',
75
\ _—

14357

Step nine

Glue and brad nail the MAGNETIC CATCH MOUNTS as shown on the diagram. This is where you'll affix the magnetic catch.

Page 10 of 15



direg

Step ten

Attach BACK to the cabinets, inserting into the grooves on each side and carefully attaching with 1-1/4" brad nails.

U g Dado pEzaz. \l Inserts into Dado Groove
IMFCLS into Lado aroowe = j 1||L
- 3"
1= b 8 8 !
Step eleven
11 Before attaching the top, iron on edge banding and trim accordingly to all four sides. Attach top to the cabinet base leaving

1/4" overhang on the front and sides and flush on the back. Use 1-1/4" pocket hole screws through the TOP SPAN and into
the top, and using the pocket holes drilled in the BACK SPAN into the the top.

- — Attach through pocket holes
_,—'-""'_'_F'-
45 = drilled on the BACK SPAN with
—__1-1/4" pocket hole screws
—\-\_\_\_\_\_\_\_

Attach the top
through the
TOP SPAM
with 1-1/4"

pocket hole screws

Page 11 of 15



13

direg

Step twelve
Build four drawer boxes as shown. The pocket holes on the DRAWER CARCASS FRONT/BACKS should face outwards. Use

wood glue and 1-1/4" pocket hole screws.

Step thirteen

Attach 1/4" drawer bottoms with wood glue and 1-1/4" brad nails.

(
0

e

131257

Page 12 of 15



direg

Step fourteen

Install the 14" drawer slides using the Kreg Drawer Slide Jig, and attach the drawer boxes.

—
T
—
e ——
T T
=
f—}
L f— —
— e
- _—
—s
]
— —=
== —
1
—

Page 13 of 15



15

direg

Step fifteen

Attach drawer faces using double sided tape to temporarily secure into place (centered in the opening), then open the door
by reaching inside the cabinet to the back and pull the drawer box forward. Screw two 1-1/4" pocket hole screws through the
inside of the drawer box into the drawer front. Be careful to avoid the place you are going to put your knob/pull. Also, drill

holes using the Kreg Shelf Pin Jig for the shelves. You can drill for one shelf location, or multiple if you plan on adjusting the
shelves to different levels.

Page 14 of 15



17

18

Step sixteen
16

direg

Build four doors as shown on the diagram. First, both the DOOR RAILS and DOOR STILES will need a 1/4" wide x 1/2" groove

down the center of one side of the board. This can be accomplished on a router table with the appropriate bit, or on a table

saw. Second create a 1/4" wide 1/2" tongue on each end of the DOOR RAILS. This can also be accomplished on a router table

with the appropriate bit, or on a table saw. There are tutorials and videos online for each method. Add glue in each groove

and assemble any three sides of the frame together, slide in the center panel, and attach the fourth side of the frame.

Clamp and check for square and let glue dry.

D

10.8125" —

. ' —10.8125" ——
I

+‘

~10.8125" —

Step seventeen

16.

{

5

] x4

Install doors using non-mortise hinges. If the doors are too snug, you can simply take a little off of the edges (very little at a
time on your table saw), until you have the perfect fit. Add the hardware of your choice.

Step eighteen

Finish by sanding, staining and sealing, or painting.

Page 15 of 15



	Transitional Sideboard
	Tools
	Kreg Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Step one
	Step two
	Step three
	Step four
	Step five
	Step six
	Step seven
	Step eight
	Step nine
	Step ten
	Step eleven
	Step twelve
	Step thirteen
	Step fourteen
	Step fifteen
	Step sixteen
	Step seventeen
	Step eighteen



